



On The System of Double Diophantine Equations

$$x - y = u^2, \frac{x}{D} - y = v^2$$

S. Vidhyalakshmi¹, M.A. Gopalan², S. Aarthy Thangam³

^{1,2,3}Department of Mathematics, Shrimati Indira Gandhi College, Trichy-620 002, Tamil Nadu, India.

^{1,2,3}Email: vidhyasigc@gmail.com, mayilgopalan@gmail.com, aarthythangam@gmail.com

Abstract:

The thrust of this paper is to obtain many non-zero distinct integer values of X such that $x - y = u^2, \frac{x}{D} - y = v^2$ where $D \geq 0$ & square-free and y is a known integer. A few numerical examples are given. The recurrence relation satisfied by the values of X is presented.

Keywords : System of double Diophantine equations, Diophantine problem

Introduction:

The theory of Diophantine equation is a treasure house in which the search for many hidden relations and properties form a treasure hunt. In fact, Diophantine problems dominated most of the celebrated unsolved mathematical problems. Certain diophantine problems come from physical problems or from immediate mathematical generalizations and others come from geometry in a variety of ways. Certain diophantine problems are neither trivial nor difficult to analyze. In this context, one may refer [1-18]. The above results motivated us to search for the integer solutions to some other choices of double diophantine equations.

In this paper, many non-zero distinct integer values of X such that $x - y = u^2, \frac{x}{D} - y = v^2$ where $D \geq 0$ & square-free and y is a known integer are obtained. A few numerical examples are given. The recurrence relation satisfied by the values of X is presented.

Method of analysis:

The system of equations to be solved is

$$x - y = u^2 \tag{1}$$

$$\frac{x}{D} - y = v^2 \tag{2}$$

where D is a non-zero integer > 1 and square-free

The elimination of x between (1) and (2) gives

$$u^2 = Dv^2 + y(D - 1) \tag{3}$$

Let $(u_\alpha^0, v_\alpha^0, y_\alpha)$ be an integral solution of (3) for given D and the corresponding value of x is

$$x_0 = (u_\alpha^0)^2 + y_\alpha$$

To obtain the other values of x , we proceed as follows:

Let $(\tilde{u}_n, \tilde{v}_n)$ be the general solution of the Pellian

$$u^2 = Dv^2 + 1 \tag{4}$$

given by

$$\tilde{u}_n + \sqrt{D} \tilde{v}_n = (\tilde{u}_0 + \sqrt{D} \tilde{v}_0)^{n+1}, \quad n = 0, 1, 2, \dots$$

in which $(\tilde{u}_0, \tilde{v}_0)$ is the initial solution of (4).

Applying the lemma of Brahmagupta between the solutions (u_α^0, v_α^0) and $(\tilde{u}_n, \tilde{v}_n)$, the sequence of values of u and v satisfying (3) are given by

$$\begin{aligned} v_n &= u_\alpha^0 \tilde{v}_n + v_\alpha^0 \tilde{u}_n \\ v_n &= \frac{1}{2\sqrt{D}} \left\{ (u_\alpha^0 + \sqrt{D}v_\alpha^0)(\tilde{u}_0 + \sqrt{D}\tilde{v}_0)^{n+1} - (u_\alpha^0 - \sqrt{D}v_\alpha^0)(\tilde{u}_0 - \sqrt{D}\tilde{v}_0)^{n+1} \right\} \\ u_n &= u_\alpha^0 \tilde{u}_n + Dv_\alpha^0 \tilde{v}_n \\ u_n &= \frac{1}{2} \left\{ (u_\alpha^0 + \sqrt{D}v_\alpha^0)(\tilde{u}_0 + \sqrt{D}\tilde{v}_0)^{n+1} + (u_\alpha^0 - \sqrt{D}v_\alpha^0)(\tilde{u}_0 - \sqrt{D}\tilde{v}_0)^{n+1} \right\} \end{aligned}$$

Substituting the values of u_n and y_α in (1), the sequence of values of x are obtained as

$$x_{n+1} = u_n^2 + y_\alpha, \quad n = 0, 1, 2, \dots$$

The values of x satisfy the following recurrence relation

$$\sqrt{x_{n+2} - y_\alpha} - 2\tilde{u}_0 \sqrt{x_{n+1} - y_\alpha} + \sqrt{x_n - y_\alpha} = 0$$

To analyze the nature of the solutions one has to go in for particular values of D and y_α .

A few illustrations are given below:

ILLUSTRATION I:

Let $D = 3$. Then

$$: y_\alpha = 2\alpha^2 + 4\alpha - 4, \quad u_\alpha^0 = 2\alpha + 2, \quad v_\alpha^0 = 2, \quad \tilde{u}_0 = 2, \quad \tilde{v}_0 = 1$$

Thus the values of x satisfying (1) and (2) are given by

$$\begin{aligned} x_0 &= 6\alpha^2 + 12\alpha \\ x_{n+1} &= \frac{1}{4} \left\{ \left((2\alpha + 2) + 2\sqrt{3} \right) (2 + \sqrt{3})^{n+1} + \left((2\alpha + 2) - 2\sqrt{3} \right) (2 - \sqrt{3})^{n+1} \right\}^2 + (2\alpha^2 + 4\alpha - 4) \end{aligned}$$

Some numerical examples are:

Table: 1

n	Values of x when		
	$\alpha = 1$ $y_1 = 2$	$\alpha = 2$ $y_2 = 12$	$\alpha = 3$ $y_3 = 26$
-1	18	48	90
0	198	336	510
1	2706	4368	6426

$$: y_\alpha = 2\alpha^2 + 2\alpha - 1, \quad u_\alpha^0 = 2\alpha + 1, \quad v_\alpha^0 = 1, \quad \tilde{u}_0 = 2, \quad \tilde{v}_0 = 1$$

The values of x satisfying (1) and (2) are given by

$$\begin{aligned} x_0 &= 6\alpha^2 + 6\alpha \\ x_{n+1} &= \frac{1}{4} \left\{ \left((2\alpha + 1) + \sqrt{3} \right) (2 + \sqrt{3})^{n+1} + \left((2\alpha + 1) - \sqrt{3} \right) (2 - \sqrt{3})^{n+1} \right\}^2 + (2\alpha^2 + 2\alpha - 1) \end{aligned}$$

A few values of x are presented below:

Table: 2

n	Values of x when		
	$\alpha = 1$ $y_1 = 3$	$\alpha = 2$ $y_2 = 11$	$\alpha = 3$ $y_3 = 23$
-1	12	36	72
0	84	180	312
1	1092	2220	3744

The above solutions in (I) and (II) satisfying the following recurrence relation

$$\sqrt{x_{n+2} - y_\alpha} - 4\sqrt{x_{n+1} - y_\alpha} + \sqrt{x_n - y_\alpha} = 0$$

ILLUSTRATION 2:

Let $D = 5$.

$$: y_\alpha = \alpha^2, u_\alpha^0 = 3\alpha, v_\alpha^0 = \alpha, \tilde{u}_0 = 9, \tilde{v}_0 = 4$$

A few values of x are presented below:

Table: 3

n	Values of x when		
	$\alpha = 1$ $y_1 = 1$	$\alpha = 2$ $y_2 = 4$	$\alpha = 3$ $y_3 = 9$
-1	10	40	90
0	2210	8840	19890
1	710650	2842600	6395850

$$(IV) : y_\alpha = \alpha^2 + 3\alpha + 1, u_\alpha^0 = 3\alpha + 2, v_\alpha^0 = \alpha, \tilde{u}_0 = 9, \tilde{v}_0 = 4$$

Table: 4

n	Values of x when		
	$\alpha = 1$ $y_1 = 5$	$\alpha = 2$ $y_2 = 11$	$\alpha = 3$ $y_3 = 19$
-1	30	75	140
0	4230	12555	25300
1	1357230	4032075	8128220

The above patterns in (III) and (IV) satisfy the recurrence relation

$$\sqrt{x_{n+2} - y_\alpha} - 18\sqrt{x_{n+1} - y_\alpha} + \sqrt{x_n - y_\alpha} = 0$$

ILLUSTRATION 3:

Let $D = 6$. Then

$$: y_\alpha = 5\alpha^2 + 2\alpha - 1, u_\alpha^0 = 5\alpha + 1, v_\alpha^0 = 1, \tilde{u}_0 = 5, \tilde{v}_0 = 2$$

Table: 5

n	Values of x when		
	$\alpha = 1$ $y_1 = 6$	$\alpha = 2$ $y_2 = 23$	$\alpha = 3$ $y_3 = 50$
-1	42	144	306
0	1770	4512	8514
1	171402	434304	817266

$$(VI) : y_\alpha = \frac{1}{4}[5\alpha^4 - 10\alpha^3 + 21\alpha^2 - 16\alpha + 8], \quad u_\alpha^0 = \frac{1}{2}[5\alpha^2 - 5\alpha + 8],$$

$$v_\alpha^0 = 1, \quad \tilde{u}_0 = 5, \quad \tilde{v}_0 = 2$$

Table: 6

n	Values of x when		
	$\alpha = 1$ $y_1 = 2$	$\alpha = 2$ $y_2 = 15$	$\alpha = 3$ $y_3 = 71$
-1	18	96	432
0	1026	3264	11520
1	99858	314736	1104672

Patterns in (V) and (VI) satisfy the following recurrence relation:

$$\sqrt{x_{n+2} - y_\alpha} - 10\sqrt{x_{n+1} - y_\alpha} + \sqrt{x_n - y_\alpha} = 0$$

As a special case of the system of equations (1) and (2), we consider the pair of equations given by

$$x - y^2 = u^2 \tag{5}$$

$$\frac{x}{D} - y^2 = v^2 \tag{6}$$

for its non-trivial integral solutions.

Eliminating x between the equations (5) and (6), we have

$$u^2 = Dv^2 + (D - 1)y^2 \tag{7}$$

To analyze the nature of the solutions, one has to go in for finding solutions of equation (7) for partial values of D.

For example, when $D = 2$, the equation (7) becomes

$$u^2 = 2v^2 + y^2 \tag{8}$$

for which the solution is well-known. Thus, using the standard characterizations of equation (8) the patterns of solutions satisfying the system of equations (5) and (6) are given as follows:

Pattern I:

Here,

$$x = 8r^4 + 2s^4, \quad y = 2r^2 - s^2$$

From the above solutions, we observe the following:

Table: 7

Γ	S	X	Y
Even	Even	Even	Even
Odd	Odd	Even	Odd
Even	Odd	Even	Odd
Odd	Even	Even	Even

For S odd, the solutions are co-primes

Pattern II:

The equations are

$$x = 2r^4 + 8s^4, \quad y = r^2 - 2s^2$$

The nature of the solutions for different choices of Γ and S are seen as below:

Table: 8

Γ	S	X	Y
Even	Even	Even	Even
Odd	Odd	Even	Odd
Even	Odd	Even	Even
Odd	Even	Even	Odd

When Γ is odd, the solutions are co-primes.

Another method of finding solutions of the equation (7) is given below:

On introducing the linear transformations

$$v = X \mp (D-1), \quad y = X \pm D \tag{9}$$

The equation (7) becomes

$$u^2 = (2D-1)X^2 + D(D-1)(2D-1) \tag{10}$$

which, on solving, gives u and X . Using the values of X in (9), the corresponding values of y and V are obtained. Knowing the values of u and y , the values of X are obtained from (5). [We may also obtain X by using the values of y and V in (6)].

The nature of solutions of (10) can be analyzed only for the particular values of D , as the general form of integral solutions of (10) is not possible. For the sake of clear understanding, we classify the solutions into two parts **A** and **B** namely, choose D such that (**A**): $2D-1$ is square-free and (**B**): $2D-1$ is a perfect square. The process of obtaining integral solutions is explained through the following examples:

Part (A):

- (i) Let $D = 4$. The equation (10) simplifies to

$$u^2 = 7X^2 + 84$$

whose solutions are

$$X_n = \frac{1}{2^{n-1}} \left[(3+\sqrt{7})^{2n} + (3-\sqrt{7})^{2n} \right] + \frac{\sqrt{7}}{2^n} \left[(3+\sqrt{7})^{2n} - (3-\sqrt{7})^{2n} \right]$$

$$u_n = \frac{\sqrt{7}}{2^n} \left\{ (2 + \sqrt{7})(3 + \sqrt{7})^{2n} - (2 - \sqrt{7})(3 - \sqrt{7})^{2n} \right\}, n = 1, 2, 3, \dots$$

Substituting the above values in (9), the values of X and Y satisfying the given system of equations are given by

$$y_n = \frac{1}{2^{n-1}} \left[(3 + \sqrt{7})^{2n} + (3 - \sqrt{7})^{2n} \right] + \frac{\sqrt{7}}{2^n} \left[(3 + \sqrt{7})^{2n} - (3 - \sqrt{7})^{2n} \right] - 4$$

$$x_n = y_n^2 + u_n^2$$

where $n = 1, 2, 3, \dots$

(ii) Setting $D = 8$ in (10), we get

$$y_n = X_n - D = \left\{ (4 + \sqrt{15})^n (1 + \sqrt{15}) + (4 - \sqrt{15})^n (1 - \sqrt{15}) \right\} - 8$$

$$x_n = y_n^2 + u_n^2 = (X_n - D)^2 + 15\alpha_n^2$$

where $\alpha_n = \frac{1}{\sqrt{15}} \left\{ (4 + \sqrt{15})^n (\sqrt{15} + 1) + (4 - \sqrt{15})^n (\sqrt{15} - 1) \right\}, n = 1, 2, 3, \dots$

Part (B):

For the choice $2D - 1 = \alpha^2$, it is possible to obtain a general formula for the integral solutions of the system of equations under consideration as follows:

Replacing $(D - 1)$ by $\alpha^2 - D$ in equation (7), we have

$$u^2 - \alpha^2 y^2 = D(v^2 - y^2)$$

which is written as

$$\frac{u - \alpha y}{v - y} = \frac{D(v + y)}{u + \alpha y} = \frac{q}{p} \quad (11)$$

where p and q are non-zero distinct integers.

The equation (11) is equivalent to the system of homogeneous equations

$$pu - qv + (q - \alpha p)y = 0$$

$$qu - Dpv + (\alpha q - pD)y = 0$$

Applying the method of cross multiplication, we have

$$\left. \begin{aligned} u &= t(2pqD - \alpha q^2 - \alpha p^2 D) \\ v &= t(q^2 - 2pq\alpha + p^2 D) \\ y &= t(q^2 - p^2 D) \end{aligned} \right\} \quad (12)$$

Substituting the values of u and y given by (12) in (5), we obtain the corresponding value of X is given by

$$x = t^2 \left[(1 + \alpha^2)(q^4 + p^4 D^2) - 2p^2 q^2 (1 - \alpha^2 - 2D) - 4pqD(q^2 + \alpha p^2 D) \right]$$

Examples:**Table: 9**

p	q	D	α	u	v	t	X	y
1	2	5	3	-7	-3	1	50	-1
3	2	13	5	-449	61	1	214370	-113

GENERATION OF SOLUTIONS:

Knowing a solution of equation (7), a method to generate a sequence of solutions is presented below:

$$\text{Let } v_1 = v_0 + mp, y_1 = y_0 + mq, u_1 = u_0 + mr \quad (13)$$

where p, q, r and m are non-zero distinct integers, be a second solution of equation (7)

Using (13) in (7), we obtain

$$m = \frac{2(ru_0 - Dpv_0 - (D-1)qy_0)}{Dp^2 + (D-1)q^2 - r^2}$$

Thus the second solution of equation (7) in matrix form is given by

$$\begin{pmatrix} v_1 \\ y_1 \\ u_1 \end{pmatrix} = M \begin{pmatrix} v_0 \\ y_0 \\ u_0 \end{pmatrix}$$

where M is the matrix represented by

$$M = \begin{pmatrix} (D-1)q^2 - r^2 - Dp^2 & -2pq(D-1) & 2pr \\ -2pqD & Dp^2 - r^2 - (D-1)q^2 & 2qr \\ -2prD & -2qr(D-1) & Dp^2 + (D-1)q^2 + r^2 \end{pmatrix}$$

where $Dp^2 + (D-1)q^2 \neq r^2$

Repeating the above process, the sequence of integral solutions of equation (7) are obtained from the following relations

$$\begin{pmatrix} v_{2n} \\ y_{2n} \\ u_{2n} \end{pmatrix} = \lambda^n \begin{pmatrix} v_0 \\ y_0 \\ u_0 \end{pmatrix} \text{ and}$$

$$\begin{pmatrix} v_{2n-1} \\ y_{2n-1} \\ u_{2n-1} \end{pmatrix} = \lambda^{n-1} M \begin{pmatrix} v_0 \\ y_0 \\ u_0 \end{pmatrix}, \quad n = 1, 2, 3, \dots \quad (14)$$

in which $\lambda = ((D-1)q^2 - r^2 - Dp^2)^2 + 4p^2D[(D-1)q^2 - r^2]$

Therefore, knowing the values of y, u and v , one can obtain the corresponding values of X from (5) or (6).

From (14), we observe that

$$\lambda \begin{pmatrix} v_{2n-1} \\ y_{2n-1} \\ u_{2n-1} \end{pmatrix} = M \begin{pmatrix} v_{2n} \\ y_{2n} \\ u_{2n} \end{pmatrix}$$

Conclusion:

In this paper, an attempt has been made to obtain many non-zero distinct integer values of X such that $x - y = u^2$, $\frac{x}{D} - y = v^2$ where $D \geq 0$ & square-free and Y is a known integer. One may search for other choices of system of double equations and determine their solutions

References :

- Gopalan M.A., Devibala S., Integral solutions of the double equations $x(y - k) = v^2$, $y(x - h) = u^2$, IJSAC, Vol.1, No.1, 53-57, (2004).
- Gopalan M.A., Devibala S., On the system of double equations $x^2 - y^2 + N = u^2$, $x^2 - y^2 - N = v^2$, Bulletin of Pure and Applied Sciences, Vol.23E, No.2, 279-280, (2004).
- Gopalan M.A., Devibala S., Integral solutions of the system $a(x^2 - y^2) + N_1^2 = u^2$, $b(x^2 - y^2) + N_2^2 = v^2$, Acta Ciencia Indica, Vol XXXIM, No.2, 325-326, (2005).
- Gopalan M.A., Devibala S., Integral solutions of the system $x^2 - y^2 + b = u^2$, $a(x^2 - y^2) + c = v^2$, Acta Ciencia Indica, Vol XXXIM, No.2, 607, (2005).
- Gopalan M.A., Devibala S., On the system of binary quadratic diophantine equations $a(x^2 - y^2) + N = u^2$, $b(x^2 - y^2) + N = v^2$, Pure and Applied Matematika Sciences, Vol. LXIII, No.1-2, 59-63, (2006).
- Fadwa S. Abu Muriefah and Amal Al Rashed, The simultaneous Diophantine equations $y^2 - 5x^2 = 4$ and $z^2 - 442x^2 = 441$, The Arabian Journal for Science and engineering, 31(2A), 207-211, (2006).
- Mihai C., Pairs of pell equations having atmost one common solution in positive integers, An.St.Univ.Ovidius Constanta, 15(1), 55-66, (2007).
- Gopalan M.A., Vidhyalakshmi S., and Lakshmi K., On the system of double equations $4x^2 - y^2 = z^2$, $x^2 + 2y^2 = w^2$, Scholars Journal of Engineering and Technology (SJET), 2(2A), 103-104, (2014).
- Gopalan M. A., Vidhyalakshmi S., and Janani R., On the system of double Diophantine equations $a_0 + a_1 = q^2$, $a_0 a_1 \pm 2(a_0 + a_1) = p^2 - 4$, Transactions on Mathematics™, 2(1), 22-26, (2016).
- Gopalan M.A., Vidhyalakshmi S., and Nivetha A., On the system of double Diophantine equations $a_0 + a_1 = q^2$, $a_0 a_1 \pm 6(a_0 + a_1) = p^2 - 36$, Transactions on Mathematics™, 2(1), 41-45, (2016).
- Gopalan M. A., Vidhyalakshmi S., and Bhuvanewari E., On the system of double Diophantine equations $a_0 + a_1 = q^2$, $a_0 a_1 \pm 4(a_0 + a_1) = p^2 - 16$, Jamal Academic Research Journal, Special Issue, 279-282, (2016).
- Meena K., Vidhyalakshmi S., and Priyadharsini C., On the system of double Diophantine equations $a_0 + a_1 = q^2$, $a_0 a_1 \pm 5(a_0 + a_1) = p^2 - 25$, Open Journal of Applied & Theoretical Mathematics (OJATM), 2(1), 08-12, (2016).
- Gopalan M.A., Vidhyalakshmi S., and Rukmani A., On the system of double Diophantine equations $a_0 - a_1 = q^2$, $a_0 a_1 \pm (a_0 - a_1) = p^2 + 1$, Transactions on Mathematics™, 2(3), 28-32, (2016).
- Devibala S., Vidhyalakshmi S., Dhanalakshmi G., On the system of double equations $N_1 - N_2 = 4k + 2 (k > 0)$, $N_1 N_2 = (2k + 1)\alpha^2$, International Journal of Engineering and Applied Sciences (IJEAS), 4(6), 44-45, (2017).
- Vidhyalakshmi S., Gopalan M.A., Aarthi Thangam S., Three special systems of double diophantine equations, IJRSR, 8(12), 22292-22296, (2017).

-
16. Vidhyalakshmi S., Gopalan M.A., Aarthy Thangam S., On the pair of diophantine equations, IJSIMR, 5(8), 27-34, (2017).
 17. Vidhyalakshmi S., Gopalan M.A., Aarthy Thangam S., On systems of double equations with surds, IJMA, 9(10), 20-26, (2018).
 18. Dr. M.A. Gopalan, Dr. S. Vidhyalakshmi, S. Aarthy Thangam, Systems of double diophantine equations, KY Publication, Guntur, AP, (2018).